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gL K& ouT IN Total Hdcp Net gL K& ouT IN Total Hdcp Net
B BYSR| 9 BYSR
E 3 [* 45] 44] 89 22.0] 670 JKH K | 49 42] 91 140] 77.0]
5 " BUSR o BYZX
EER g 2 | 45[* 42] 87 180] 69.0] (30iz] Rk &t | 45]* 48] 93 16.0] 77.0|
3 BUSR| 4 BYSZ
A #& [ 43[* 411 84 130[ 71.0] PH ER [* 49] 471 96] 19.0] 770]
4 BUSR 49 BYS X
AR = [* 46] 40[  86] 15.0[ 71.0] EIE RE | 50[* 47 97 20.0[ 77.0|
€0 B9 3 B77%
BT &RA [ 43]* 43] 86 150] 71.0] N EZ [* 49] 48] 97 200 77.0]
6 BYSR| 4 BYFZ
=ik bR | 42]* 45] 87 16.0] 71.0] B | 47]* 447 91 130] 78.0]
7 BIZ2 | Lasti] 8752
T RF [ 45]% 43] 88 17.0] 71.0| Il Bk [* 47] 47] 94 16.0] 78.0|
8 BYSA I 44 BT A
HE HEh [* 45] 43]  88] 17.0] 71.0] ELEES | 49]* 477 96 18.0] 78.0]
9 BUZX 37 BHSX
s Eh | 45[* 48] 93] 220] 710| KB F= [* 47] 471 94 150] 79.0]
(1042 BI5R| a4 BY5X
KR RF | 48]* 49]  97] 26.0] 710| SR ER | 47]* 51] 98 19.0[ 79.0]
1" _ BYSR| 49 BYSR
F3k b= [* 40] 45] 85 13.0[ 720 NE AE [ 51[* 51] 102[ 230 79.0]
BYSA R BYSA
12 - [40%1] N
i HRE | 44]* 43] 87 150] 72.0| H2 BX [* 53] 50] 103 24.0] 79.0|
13 BYSZ | 4 BYSZ
1K IPN | 447 47] 91 19.0] 720 KB HBE | 51]x 44] 95 150] 80.|
14 BYSZ1 4 BYSR
#E BiE | 43]* 46] 89 16.0] 730| it Ho [* 51] 49] 100] 20.0] 80.0|
. BYSR BYSZ
(5] g - | B[ 48] 89 160 730| ° EIH A | 48[* 47| 95 130] 820
. BI5R| w4 BY3X
K RE [* 44] 44]  88[ 14.0[ 740 hE fE [* 47] 50[ 97 15.0] 82.0|
BYSR . BYSZ
E-T'X": | 45]* 44] 89 150] 74.0] (45tt] JING B3 | 55[* 48] 103 21.0] 820
18 BYZR 1 46 BYSA
B N | 42]* 47] 89 150 74.0] AR BIE | 51]* 55] 106] 24.0] 82.0]
19 N BOSR 47 BYS X
=8 FH | 48]* 45] 93 19.0] 74.0] FH BOL | 52]* 46] 98 150] 83.0]
[(20f1) BISA| 4 BYSA
FEIL mx [* 45] 43]  88] 13.0] 750 EEEES [ 50[* 52[ 102] 19.0[ 83.0|
21 BYSA 1 4 BYS2Z
Fik | 44 45]  89] 14.0] 750| 2R A= [* 47] 51 98] 14.0] 84.0|
BYSR R BYSA
22 [50%] -
L 5 | 45]* 457 90] 150 75.0] A HEZ [* 47] 52[  99] 15.0[ 84.0|
23 N B BYSZ
=k | 46]* 45 91] 16.0[ 75.0] #HE F | 52[* 52] 104] 20.0] 84.0|
24 BYSZ |, BYTR
¥ EF [* 47] 42] 89 13.0] 76.0| AHE | 50[* 53] 103 17.0] 86.0]
n BYSX BYZX
(25%2] MR B= | 48]* 44] 92 16.0] 76.0] gk s | 55]* 49] 104 18.0] 86.0]
26 BUSR 54 BYS X
REl BE | 477* 45]  92[ 16.0] 76.0] 1k B [* 51] 54] 105] 18.0] 87.0|
”7 BV [5541] BYSA
IV ) — | 47]* 49]  96] 200[ 76.0] il 5 | 53] 54] 107 19.0] 88.0|
28 BYUZX
EHEZ | 43]* 471 90] 130] 77.0]
' ouT ‘ N
HOLE | 1 2 3 4 | 5 6 7 8 9 10| 11| 12| 13| 14| 15| 16 | 17 | 18 Total
PAR 4 5 3 4 | 4] 4 5 3 4 136 | 4 3 4 | 4 5 3 4 5 4 [36] 72
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